
INSTRUCTIONS
VAN44.COM

SUPPORT@VAN44.COM
INSTAGRAM: @VAN44_OFFROAD

CENTRE CONSOLE MOUNT
1ST GENERATION TOYOTA SEQUOIA
1ST GENERATION TOYOTA TUNDRA
1ST GENERATION TOYOTA TACOMA



1

2

6

4

3

5

NOTES:

>>DRY FIT FIRST TO ENSURE ALL HOLES 
WILL HAVE MATERIAL TO GO INTO. MARK 
HOLES IF NECESSARY

>>HOLES DO NOT NEED TO BE PRE-DRILLED.

>>RECOMMENDED TO USE THE LOWEST 
SETTING ON A CLUTCHED DRILL TO AVOID 
STRIPPING PLASTIC, INCREASE THE LIMIT 
ON THE CLUTCH JUST UNTIL THE SCREW 
HEAD TOUCHES THE SURACE OF THE 
MOUNT

STEP 1:
>>INSTALL THE LOWER 2 #8 SCREWS

STEP 2:
>> WITH THE 1ST 2 SCREWS IN, PIVOT THE 
CENTRE CONSOLE MOUNT UNTIL IT'S IN A 
DESIRABLE POSITION (LEVEL, USUALLY)

STEP 3:
>>DRIVE IN THE REMAINING 2 SCREWS

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 RADIO BEZEL OEM 1
2 010201-0200A CTR. CONSOLE MNT. 1
3 33-01 RADIO CLIP (OPTIONAL) 1
4 91306A671 M6 X 12MM BOLT 2
5 96194A101 M6 NUT 2
6 92470A194 #8 X 1/2" SCREW 4


	Sheet1
	Drawing View7
	Drawing View9

	Sheet1(2)
	Drawing View10


